
Angličtina – 22. 6. – 26. 6. 
Hello everyone!  

ŘEŠENÍ – U 53/4a - slova opačného významu 

1. sloupec 2. sloupec 
narrow dry 
crooked different 
dirty strong 
old dangerous 
hot beautiful 

 

ŘEŠENÍ – U 53/4c 

clean – cleaner               beautiful – more beautiful 

safe – safer                      good - better 

ŘEŠENÍ – PS 40/1 

2 wet     3 short     4 wide     5 dirty    6 weak    7 ugly    8 straight     9 new    10 safe 

11 large    12 thin     13 open    14 bad     15 slow     16 heavy     17 wrong     18 interesting 

19 expensive     20 difficult 

ŘEŠENÍ – PS 40/2 

2 The Thames is wider than the Cherweell.     3 Line B is straight than line A. 

4 Andrew is heavier than Luis.     5 An elephant is bigger than a mouse. 

6 Question 2 is more difficult than question 1.       

…………………………………………………………………………………………………………………… 

Procvičuj si: 

Past continuous 

https://agendaweb.org/exercises/verbs/past-continuous/write-2  

Past simple and past continuous 

https://www.englisch-hilfen.de/en/exercises/tenses/simple_past_progressive.htm  

Future with ´going to´ 

https://agendaweb.org/exercises/verbs/future/positive-negative-questions-write  

The verb ´have to´ 

http://www.focus.olsztyn.pl/en-have-to-has-to-exercise.html#.Xu8GH-fgo2w  

Hezké prázdniny  

https://agendaweb.org/exercises/verbs/past-continuous/write-2
https://www.englisch-hilfen.de/en/exercises/tenses/simple_past_progressive.htm
https://agendaweb.org/exercises/verbs/future/positive-negative-questions-write
http://www.focus.olsztyn.pl/en-have-to-has-to-exercise.html#.Xu8GH-fgo2w

